EXERCISES — Harder Graphs

Find any horizontal and vertical asymptotes and sketch the graphs of the following
functions showing any intercepts and turning points:-

X __X
(a) y_x+l by x—4+4

.'VT yT
§ gf
:
4 it
3 3]
2 2
1 1
s's'ia‘2'1'_1n1'2'e:4~5~67; '_101‘1;?;405'6_;
2 2
3 3
-4 -4
5 5
5 «81
2 2
x° =1 x°+1
() y== (d ry==3
x°+1 x° -1
Y J’T
6 6
s s
4 4
3 3
2 2
1 1

S S )
-4 -‘3. 2 4-0 1 2 3 4 5 8 X

3 —
6 .5 4 3 .2 A P12 3 4 5 63

AL boa

& b

&
]

IR SR R TN




“~

(f)

wu..854321

‘V.654321,4

2 -1

-3

y——-x+l
X

(9)

Avy554321

2 4

-4 -3

-5

-6



Tutorial 1 — Week 8 (Answers)
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Harder Examples
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